$\frac{1}{1} + \frac{1}{2} + \frac{1}$

 $\begin{array}{c} \P_{X_{1}} & (-) & \P_{X_{1}} & \Pi_{\Psi_{1}} & \P_{\Psi_{2}} & \Pi_{\Psi_{2}} & \Pi_{\Psi$

 $\begin{array}{c} & & & & & \\ & & & & & \\ & & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & & \\ & & & &$

- p++1/ +
-

 $\sum_{i=1}^{n} \frac{1}{2} \sum_{i=1}^{n} \frac{1}{2} \sum_{$

 $\begin{array}{c} n & (p - n + e - 1) + (p - e - e^{-1} + (p - e^{-1}$

 $\begin{array}{c} \begin{array}{c} & & & \\ & & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & & \\ & \\ & & \\ &$

 $\begin{array}{c} \mathcal{L} \rightarrow \mathcal{L} = \{\chi_1, \ldots, \chi_n\} = \{\chi_1, \chi_2, \ldots, \chi_n\} = \{\chi_1, \chi_1, \chi_1, \ldots, \chi_n\} = \{\chi_1, \chi_1, \chi_1, \chi_1, \ldots, \chi_n\} = \{\chi_1, \chi_1, \chi_1, \chi_1, \chi_1, \chi_1, \chi_1\} = \{\chi_1, \chi_1, \chi_1, \chi_1, \chi_1\} = \{\chi_1, \chi_1, \chi_1\} = \{\chi_1, \chi_1, \chi_1\} = \{\chi_1, \chi_1, \chi_1\} = \{\chi_1, \chi_1\} = \{\chi_1\} = \{\chi_1\} = \{\chi_1\} = \{\chi_1\} = \{\chi_$

 $\frac{1}{2} \left\{ \frac{1}{2} \left$

1.....

 $\begin{array}{c} & & & & \\ 1 & & & \\ 1 & & & \\ 1 & & & \\ 1 & & & \\ 1 & & \\ 1 & & \\ 2 & & \\ 2 & & \\ 1 & &$

 $\frac{1}{1} \frac{1}{1} \frac{1}$

3 $3_{1,1}$ \ldots 1_{n} \ldots 1_{n} \ldots 1_{n} \ldots 1_{n} \ldots 1_{n} \ldots 1_{n}

 $(1) \quad (1) \quad (1)$ $\frac{1}{1} + \frac{1}{2} + \frac{1}$

A:: · · · ·

3 الاسم الأمري مريد مريد

where the second s $\cdot_{1} = \bullet_{1} \cdot \cdot_{1} \bullet \cdot \cdot_{1} \cdot \cdot_$

. • . . .

- 4

- $\frac{1}{2} \cdot \frac{1}{2} \cdot \frac{1}$
- 3

L

 $(\cdots + \mathbf{n}, \cdots, \mathbf{n}, \cdots, \mathbf{n}, \mathbf{n},$ (1, 1) =

1 1 1 1 * 1 * 1 1 × 1 1 ⁴ 11 * * * * * 1 ⁷ * * * * * 1 ¹ * * * * * 1 * 1 * * 1 *

 $\begin{array}{c} (1,2,1) = (1,2,1) + (1,$

Note: Use half strawberries, half rhubarb. If you do not have fresh